

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

### Request for Quotation

SH-P

Ţ

DPS1233

:

Δ	DDRESS CORRESPONDENCE TO A BLENTION OF
TARA	LYLE
304-5	558-2544

RFQ COPY TYPE NAME/ADDRESS HERE

Heiners Baking Co. Post Office Box 9247 Huntington, WV 25704 WEST VIRGINIA STATE POLICE

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

DATE PRIN	990000000000000000000000000000000000000	TEF	IMS OF SAL	E	SHIP VIA	FO.B.	FREIGHTTERMS
04/11/2012 BID OPENING DATE:		05/15/2012			RID	OPENING TIME 0	1:30PM
LINE		NTITY	UOP	CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
0001	BREAD	1 AND RO	LS LLS		375-15		
	AGENCY PROVID	, WV S E BREA ACADE	GINIA TATE D AND MY IN	PURC POLIC BAKE	ONTRACT HASING DIVISION E, IS SOLICITING RY PRODUCTS FOR AR, WV, PER THE	BIDS TO THE WV STATE	
	BUSINE USPS, VENDOR QUESTI	N QUES SS ON FAX, C RECEI ONS WI	04/27 OURIE VES A LL BE	/2012 R OR N UNF ANSW	BE ACCEPTED UNT . QUESTIONS MAY E-MAIL. IN ORDE AIR ADVANTAGE, N ERED ORALLY. IF REFERRED. ADDRE	BE SENT VIA R TO ASSURE NO O SUBSTANTIVE	
	PURCHA 2019 W CHARLE FAX:	MENT O SING D ASHING STON,	IVISI TON S WV 25 8-411	ON TREET 305 5			CEIVED PR 24 AM 9: 58
-/	EMAIL:		.L.LY		VERSE SIDE FOR TERMS AND CO	NDITIONS	PURCHA MASI DIVISION
Walter	Jala				TELEPHONE	3-8411 ext 205 DATE	4/23/12
Siles Zone	VΡ	FE	710	0510			S TO BE NOTED ABOVE
WH	EN RESP	ONDING				IN SPACE ABOVE LABEL	ED 'VENDOR'

# GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available offline at www.state.wv.us/admin/purchase/vrc/hipaa.html and is hereby made part of the agreement provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

#### INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Quotation Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for

SH-p

Ö

DPS1233

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

WEST VIRGINIA STATE POLICE

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

FREIGHT TERMS DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. 04/11/2012 **BID OPENING DATE:** BID OPENING TIME 01:30PM 05/15/2012 CAT. AMOUNT UNIT PRICE QUANTITY UOP ITEM NUMBER LINE LIFE OF CONTRACT: THIS CONTRACT BECOMES EFFECTIVE ON AWARD AND EXTENDS FOR A PERIOD OF ONE (1) YEAR OR UNTIL SUCH "REASONABLE TIME" THEREAFTER AS IS NECESSARY TO OBTAIN A NEW CONTRACT OR RENEW THE ORIGINAL CONTRACT. THE "REASONABLE TIME" PERIOD SHALL DURING THIS "REASONABLE NOT EXCEED TWELVE (12) MONTHS. TIME" THE VENDOR MAY TERMINATE THIS CONTRACT FOR ANY REASON UPON GIVING THE DIRECTOR OF PURCHASING 30 DAYS WRITTEN NOTICE. UNLESS SPECIFIC PROVISIONS ARE STIPULATED ELSEWHERE IN THIS CONTRACT DOCUMENT BY THE STATE OF WEST VIRGINIA, ITS AGENCIES, OR POLITICAL SUBDIVISIONS, THE TERMS, CONDITIONS, AND PRICING SET FORTH HEREIN ARE FIRM FOR THE LIFE OF THE CONTRACT. RENEWAL: THIS CONTRACT MAY BE RENEWED UPON THE MUTUAL WRITTEN CONSENT OF THE SPENDING UNIT AND VENDOR, SUBMITTED TO THE DIRECTOR OF PURCHASING THIRTY (30) DAYS PRIOR TO THE EXPIRATION DATE. SUCH RENEWAL SHALL BE IN ACCORDANCE WITH THE TERMS AND CONDITIONS OF THE ORIGINAL CONTRACT AND SHALL BE LIMITED TO TWO (2) ONE (1) YEAR PERIODS. CANCELLATION: THE DIRECTOR OF PURCHASING RESERVES THE RIGHT TO CANCEL THIS CONTRACT IMMEDIATELY UPON WRITTEN NOTICE TO THE VENDOR IF THE COMMODITIES AND/OR SERVICES SUPPLIED ARE OF AN INFERIOR QUALITY OR DO NOT CONFORM TO THE SPECIFICATIONS OF THE BID AND CONTRACT HEREIN. OPEN MARKET CLAUSE: THE DIRECTOR OF PURCHASING MAY AUTHORIZE A SPENDING UNIT TO PURCHASE ON THE OPEN MARKET, WITHOUT THE FILING OF A REQUISITION OR COST ESTIMATE, ITEMS SPECIFIED ON THIS CONTRACT FOR SEE REVERSE SIDE FOR TERMS AND CONDITIONS TELEPHONE DATE SIGNATURE TITLE ADDRESS CHANGES TO BE NOTED ABOVE



RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

#### Request for Quotation

SH-P

Ţ

DPS1233

PAGE

3

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

04-558-2544

WEST VIRGINIA STATE POLICE

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

FREIGHT TERMS SHIP VIA F.O.B. DATE PRINTED TERMS OF SALE 04/11/2012 01:30PM BID OPENING DATE: BID OPENING TIME 05/15/2012 CAT. AMOUNT UNIT PRICE QUANTITY UOP ITEM NUMBER LINE IMMEDIATE DELIVERY IN EMERGENCIES DUE TO UNFORESEEN CAUSES (INCLUDING BUT NOT LIMITED TO DELAYS IN TRANS-PORTATION OR AN UNANTICIPATED INCREASE IN THE VOLUME OF WORK.) QUANTITIES: QUANTITIES LISTED IN THE REQUISITION ARE APPROXIMATIONS ONLY, BASED ON ESTIMATES SUPPLIED BY IT IS UNDERSTOOD AND AGREED THE STATE SPENDING UNIT. THAT THE CONTRACT SHALL COVER THE QUANTITIES ACTUALLY ORDERED FOR DELIVERY DURING THE TERM OF THE CONTRACT, WHETHER MORE OR LESS THAN THE QUANTITIES SHOWN. ORDERING PROCEDURE: SPENDING UNIT(S) SHALL ISSUE A WRITTEN STATE CONTRACT ORDER (FORM NUMBER WV-39) TO THE VENDOR FOR COMMODITIES COVERED BY THIS CONTRACT. THE ORIGINAL COPY OF THE WV-39 SHALL BE MAILED TO THE VENDOR AS AUTHORIZATION FOR SHIPMENT, A SECOND COPY MAILED TO THE PURCHASING DIVISION, AND A THIRD COPY RETAINED BY THE SPENDING UNIT. IN THE EVENT THE VENDOR/CONTRACTOR FILES BANKRUPTCY: FOR BANKRUPTCY PROTECTION, THE STATE MAY DEEM THE CONTRACT NULL AND VOID, AND TERMINATE SUCH CONTRACT WITHOUT FURTHER ORDER. THE TERMS AND CONDITIONS CONTAINED IN THIS CONTRACT SHALL SUPERSEDE ANY AND ALL SUBSEQUENT TERMS AND CONDITIONS WHICH MAY APPEAR ON ANY ATTACHED PRINTED DOCUMENTS SUCH AS PRICE LISTS, ORDER FORMS, SALES AGREEMENTS OR MAINTENANCE AGREEMENTS, INCLUDING ANY ELECTRONIC MEDIUM SUCH AS CD-ROM. REV. 01/17/2012 EXHIBIT 4 SEE REVERSE SIDE FOR TERMS AND CONDITIONS DATE TELEPHONE SIGNATURE TITLE ADDRESS CHANGES TO BE NOTED ABOVE



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### Request for Quotation

þ

DPS1233

PAGE

TARA LYLE

ADDRESS CORRESPONDENCE TO ATTENTION OF

304-558-2544

WEST VIRGINIA STATE POLICE

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 304-746-2141 25309

TYPE NAME/ADDRESS HERE NUNCOR

RFQ COPY

**FREIGHT TERMS** F.O.B. TERMS OF SALE SHIP VIA DATE PRINTED 04/11/2012 01:30PM BID OPENING DATE: BID OPENING TIME 05/15/2012 CAT. AMOUNT ITEM NUMBER UNIT PRICE QUANTITY UOP LINE UNLESS THE VENDOR INDICATES LOCAL GOVERNMENT BODIES: IN THE BID HIS REFUSAL TO EXTEND THE PRICES, TERMS, AND CONDITIONS OF THE BID TO COUNTY, SCHOOL, MUNICIPAL AND OTHER LOCAL GOVERNMENT BODIES, THE BID SHALL EXTEND TO POLITICAL SUBDIVISIONS OF THE STATE OF WEST IF THE VENDOR DOES NOT WISH TO EXTEND THE VIRGINIA. PRICES, TERMS, AND CONDITIONS OF THE BID TO ALL POLITICAL SUBDIVISIONS OF THE STATE, THE VENDOR MUST SUCH REFUSAL CLEARLY INDICATE SUCH REFUSAL IN HIS BID. SHALL NOT PREJUDICE THE AWARD OF THIS CONTRACT IN ANY MANNER. REV. 3/88 THE MODEL/BRAND/SPECIFICATIONS NAMED HEREIN ESTABLISH THE ACCEPTABLE LEVEL OF QUALITY ONLY AND ARE NOT INTENDED TO REFLECT A PREFERENCE OR FAVOR ANY VENDORS WHO ARE BIDDING PARTICULAR BRAND OR VENDOR. ALTERNATES SHOULD SO STATE AND INCLUDE PERTINENT FAILURE TO PROVIDE LITERATURE AND SPECIFICATIONS. INFORMATION FOR ANY ALTERNATES MAY BE GROUNDS FOR THE STATE RESERVES THE RIGHT REJECTION OF THE BID. TO WAIVE MINOR INREGULARITIES IN BIDS OR SPECIFICATIONS IN ACCORDANCE WITH SECTION 148-1-4(F) OF THE WEST VIRGINIA LEGISLATIVE RULES AND REGULATIONS. ANY INDIVIDUAL SIGNING THIS BID IS CERTIFYING THAT: (1) HE OR SHE IS AUTHORIZED BY THE BIDDER TO EXECUTE THE BID OR ANY DOCUMENTS RELATED THERETO ON BEHALF OF THE BIDDER, (2) THAT HE OR SHE IS AUTHORIZED TO BIND THE BIDDER IN A CONTRACTUAL RELATIONSHIP, AND (3) THAT THE BIDDER HAS PROPERLY REGISTERED WITH ANY STATE AGENCIES THAT MAY REQUIRE REGISTRATION. THE STATE OF WEST VIRGINIA PURCHASING CARD ACCEPTANCE: CURRENTLY UTILIZES A VISA PURCHASING CARD PROGRAM WHIC SEE REVERSE SIDE FOR TERMS AND CONDITIONS DATE TELEPHONE SIGNATURE FEIN TITLE ADDRESS CHANGES TO BE NOTED ABOVE



RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

### Request for Quotation

DPS1233

 PΑ	G	
 1.1.		-
		-

	E	
	_	

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

WEST VIRGINIA STATE POLICE

ð

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 304-746-2141 25309

DATE PRINT	ED	TER	MS OF SAL	Ł	SHIP VIA		F.O.B		FAEIGHT TERIVO
04/11/									
D OPENING DATE:	DATE: 05/15/2012		BID	OPE	ENING TIME	01	:30PM		
LINE	QUA	NTITY	YOP	CAT. NO.	ITEM NUMBER		UNIT PRICE		AMOUNT
	MUST A CARD F	CCEPT OR PAY	THE S MENT CONDI	A BA TATE OF AL TION	NK. THE SUCCESS OF WEST VIRGINIA L ORDERS PLACED OF AWARD.	BY	ISA PURCHASII ANY STATE	٧G	
	VERSIO	N WHIC	HIBIT H IS	HAS AVAIL WV.US	EFERENCE CERTIFI BEEN REPLACED BY ABLE HERE: /ADMIN/PURCHASE/ ICE	TI	HE ONLINE	F	7
ð	D P B 2	EPARTM URCHAS UILDIN 019 WA	ENT O ING D G 15 SHING	F ADM IVISI TON S	UBMITTED TO: INISTRATION ON TREET, EAST 5305-0130		S. C.		
	THE EN	VELOPE BID	OR T	HE BI	THIS INFORMATION MAY NOT BE COM			0F	
	RFQ. N	 0.:			TL/32				
GNATURE	BID UP	ENTING	DATE		VERSE SIDE FOR TERMS AND CO			DATE	
TLE		F	EIN				ADDRESS CHAI	VGES	TO BE NOTED ABOVE



NOOZEK

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

### Request for Quotation

DPS1233

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

WEST VIRGINIA STATE POLICE

AH P TO

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

DATEPRIN	93993393999999	lE)	IMS OF SAI	_ <b>E</b>	SHIP	/IA	F.O.B.	FREIGHTTERMS
BID OPENING DATE:	04/11/2012   OF (15		2012				ODENTHO TIME	01.7004
200000000000000000000000000000000000000	100000000000000000000000000000000000000	05/15/2012				OPENING TIME	01:30PM	
LINE	QUAN	YTITY	UOP	CAT. NO.	ITEM NU	MBER	UNIT PRICE	AMOUNT
	BID OP	ENING	TIME:		1:30 PM			· <b></b>
	PLEASE TO CON	PROVI TACT Y	DE A OU RE	GARDI	umber in ng your b 304523-	ID:	IS NECESSARY	
4 7 7 9	CONTAC -	T PERS	ON (P	LEASE	PRINT CL SMOON 304-52	EARLY): (91005 13-8411	ext 205 ph	ne_
	*****	THIS	IS T	HE EN			233 ***** TOTA	Hanne Do
						-w		
							×	
				SEE REV	/EASE SIDE FOR T			
SIGNATURE	IGNATURE TELEPHONE DATE							
TITLE		FE	EIN				ADDRESS CHANG	GES TO BE NOTED ABOVE

RFQ No.	·
MI WIND.	

#### STATE OF WEST VIRGINIA **Purchasing Division**

## PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

WITNESS THE FOLLOWING SIGNATURE	
Vendor's Name: Latha Vain Can Dany of WV	
Authorized Signature: Date: Date:	4/23/12
State of Wast Vira in ia	•
County of Caloe , to-wit:	
Taken, subscribed, and sworn to before me this day of	. 20 12.
My Commission expires May 12, 2019.	
AFFIX SEAL HERE NOTARY PUBLIC NOTARY PUBLIC	auon X Jello
OFFICIAL SEAL NOTATE PUBLIC STATE OF WPUBLIC STATE OF WPU	Purchasing Affidavit (Revised 12/15/09

## **Bid Form DPS 1233**

	<b>DPS 1233</b>		BID OPENING:		
			*Estimated		
			Annual		Extended
	Item #	Description	Quantity	Unit Price	Price
9115	1.	White Loaf Sandwich Bread, 24 oz.	2,500	\$ 1.34	\$3350.00
53067	2.	100% Wheat Bread, 20 oz.	1,000	\$ 1,34	\$1340.00
52396	3.	Rye Bead, 16 oz.	500	\$ 2.36	\$1180.00
5487	4.	White Wheat Bread, 24 oz.	1,000	\$ 1.57	\$1570.00
9440	5.	Hamburger Buns, 4" diameter, plain, 20 oz 69	Trav 2,000 400	\$ 4.81	\$ 1924,00
5304	6.	Hamburger Buns, White Wheat, 4" diameter, 20 oz. 8 pK	1,000	\$ 1.11	\$ 1110,00
9485	7.	Hamburger Buns, Seeded, 5" diameter, 20 oz.	20of 1,000	\$ 3.33	\$ 3330.00
9405	8.	Hotdog Buns, 18 oz. 60/Trav	1,500300	\$ 4.83	\$ 1449.00
5303	9.	Hotdog Buns, White Wheat, 18 oz 8 0 K	1,500	\$ 1.11	\$1665,00
9125	10.	Old Fashion Bread, 20 oz.	500	\$ 1.26	\$ 630.00
9156	11.	Lite Wheat Bread, 16 oz.	500	\$ 1.49	\$ 745.00
63069	12.	Crushed Honey Wheat Brad, 16 oz. 20 oz.	500	\$ 1.66	\$ 830.00
*****	13	Lite Honey Wheat Bread, 16 oz.	500	\$ NA	\$ ~~
	14.	Soft Oatmeal Bread, 24 oz.	500	\$ NA	\$
9215	15.	Dinner Rolls, Brown & Serve, 12 ct	1,000	\$ 1.41	\$1410.00
	16.	Country Style Rolls, 12 ct	200	\$ NA	\$ —
9116	17.	Texas Toast, 24 oz.	1,000	\$ 1.26	4   250.00
9235	18.	Steak Buns, 8 ct.	500	\$ 1.56	\$ 780.00
9295	19.	Slit Top Hoagie Buns, 6 ct.	500	\$ 1.64	\$ 820 00
9170	20.	French Bread, Thick Slice, 16 oz.	500	\$ 149	\$ 74500
9170	21.	Italian Bread, Thick Slice, 16 oz.	500	\$ 1.49	\$ 745.00
	22.	Italian Bread Sticks, 6 ct.	100	\$ NA	\$ =
5304	23.	Sandwich Rounds, White Wheat, 8 ct.	500	\$ 1.11	\$ 555.00
5483	24.	Sandwich Rounds, 100% Whole Wheat 8	500	\$ 1.29	\$ 645.00
9156	25.	Bread, Low Calorie, White, Heiners 35 Or Equal	1,000	\$ 1.49	\$ 1490.00
9155	26.	Bread, Low Calorie, Wheat, Heiners 35 Or Equal	1,000	\$ 1.49	\$ 1490.00
- 1	27.	Tortilla's, 7" or 8"	100	\$ NA	\$ —
	28.	Pita Flatbread, Whole Grain, 12 ct	200	\$ NA	\$
40738	29.	English Muffins	100	\$ 1.79	\$ 179.00
	30.	Dessert Cups	500	\$ NA	\$
51265	31.	White Bagels, 6 ct	100	\$ 239	\$ 239.00
51265 5126	32.	Blueberry Bagels, 6 ct	100	\$ 2.39	\$ 239.00
		Failure to use this form may result in a	lisqualification.	Total	\$ 29710,00

Vendor Name:	Earthorains Baking Co. of WV
Contact Name:	Sharon Gibbs
Address:	1300 Adams Avenue
<b>3</b> 9	Huntington W 25704
Phone No.:	304-523-8411 ext 205
Fax No.:	304-623-1730
Authorized Sign	ature: Walti Haven